
1.Peter has 5 toys. He lost 2 of his toys.  

What is 5-2=______________ 

A. 0 

B. 1 

C. 3 

D. 2 

 

  



Try Again 

  



Correct 

Go to the Next Question 

  



2.Andrea removed 3 cents from a bag. The bag had 5 cents in the beginning.  

What is 5-3=_____________? 

A. 4 

B. 2 

C. 3 

D. 1 

  



Try Again 

  



Correct 

Go to the Next Question 

  



3.Subtract the following numbers 

5 -1 = ________? 

A. 4 

B. 3 

C. 2 

D. 1 

 

 

 

  



Try Again 

  



Correct 

Go to the Next Question 

  



4.Jenny picked 5 flowers. She gave 2 flowers to her mom.  

How many flowers does Jenny have now? 

5 - 2 = _____? 

A.  2 

B. 1 

C. 3 

D. 0 

  



Try Again 

  



Correct 

Go to the Next Question 

  



5. There were 3 geese on the pond. Two of them left. How many geese are there now? 

3 - 2 = ______? 

A. 1 

B. 2 

C. 0 

D. 3 

  



Try Again 

  



Correct 


